443
AGRICULTURE

FORM THREE
TIME : 2 HOURS

MARKING SCHEME
SECTION A (40 MKS)
ANSWER ALL QUESTIONS IN THE SPACES PROVIDED
1. Differentiate between apiculture and aquaculture in livestock production. (1 mk)

· Apiculture is rearing of bees in beehives while aquaculture is rearing of fish in ponds (1X1=1mk)

2. Give three reasons why primary cultivation should be done early before the onset of rains (3 mks)

· Allows enough time for subsequent practices e.g. planting early

· Allows enough time for weeds to dry and decompose

· Allows enough time for organic matter to decompose to release nutrients

· Allows water infiltration into the soil

· Minimizes competition of labour


(3X1=3mks)

3. State three benefits of possessing a land title deed (3 mks)

· Makes it easier to sell or lease part or the whole land.

· Can be used as security to acquire loan for developing land

· Reduces disputes since it confers security of tenure

· Encourages a farmer to carry out permanent investment since it confers security of tenure (3X1=3mks)

4. Name one exotic dairy cattle breed in Kenya which produces milk with

a. Highest butter fat content ( ½ mk)

Jersey 

( ½ X1= ½ mk)

b. Lowest butter fat content ( ½ mk)

Freisian 

( ½ X1= ½ mk)

5. Give four reasons why burning of vegetation is discouraged as a method of land clearing. (2 mks)
· Destroy soil structure

· Destroy organic matter

· Kills soil organisms

· Causes loss of nutrients through volatilization 

· Leaves the land bare exposing soil to agents of soil erosion 
(4X ½ = 2mks)

6. State two reasons for tooth clipping in piglets. (1 mk)

· Prevents piglets from injuring the sow when suckling

· Prevents piglets from injuring one another when playing
(2X ½ =1mk)

7. Outline two methods of stocking a beehive ( 1mk)

· Use of a catcher box

· Use of a swarm net


(2X ½ =1mk)

8. Differentiate between flushing and steaming up. ( 2mks)

· Flushing is the practice of giving extra highly nutritious feeds before and after mating while steaming up is the practice of giving extra highly nutritious feeding 1.5 – 2 months before giving birth.

(2X1=2mks)
9. The table below shows gross margins of four crops that a farmer is deciding to grow.

	CROP
	GROSS MARGIN/HA

	Cabbages
	25,000

	Bananas
	16,000

	French beans
	21,000

	Kales
	10,000


a. Which crop should the farmer grow? Give reason.
(2 mks)

Cabbages – have the highest returns

(2X1=2mks)

b. What is the farmer’s opportunity cost? (1 mk)

21000



(1X1=1mk)
10.  Outline four characteristics of the mother plant from which stem cuttings should be obtained.

(2 mks)
· High yielding 
· Good rooting ability

· Free from pests and diseases

· Adapted to various environmental conditions

· High leaf quality

· Matures early


(4X ½ = 2mks)

11. Give three reasons for seasoning timber. 
( 1 ½ mks)

· To prevent warping / bending
· To prevent rotting / fungal attack

· To reduce insect attack

· To enable timber get maximum strength 

(3X ½ =1 ½ mks)

12. a). State the gestation period of the livestock animals given below

i. rabbit






( ½ mk)

28 – 32 days (1 month)


(½ X1= ½ mk)

ii. sow 






( ½ mk )

113 – 117 days (3 months, 3 weeks and 3 days)
( ½ X 1= ½ mk)

b). Enumerate four disadvantages of natural mating.

(2 mks)

· Causes inbreeding

· Difficult for a farmer to control breeding

· Causes spread of breeding diseases e.g. vaginitis and Brucellosis (contagious abortion)

· Extra pasture land is needed for raising bulls 

· Heavy bulls can injure small cows



(4X ½ = 2mks)

13.  Describe how the following factors cause loss of soil fertility.

a). Leaching




(1 mk)

· Leaching causes dissolved nutrients to be carried downwards into the soil beyond root zones (1X1=1mk)
b). Mono-cropping 



(1 mk)

· Mono cropping leads to exhaustion of certain nutrients from the soil

(1X1=1mk)
14. A farmer was preparing concrete blocks by mixing ingredients in the ratio of 1:3:4. Name the ingredients represented by the numbers 1, 3 and 4.

( 1 ½ mks)

· 1 part of cement
· 3 parts of sand

· 4 parts of ballast





(3X ½ = 1 ½ mks)

15. Outline two functions of a screen in a fishpond. (2mks)

· Prevents fish from getting / swimming out of a pond
· Prevents predators from getting into the pond

(2X1=2mks)

16. Give three ways in which trees help in soil and water conservation.

(3 mks)

· Act as wind breakers
· Reduces the impact of raindrops on the soil

· Reduces speed of run – off

· Tree litter reduces evaporation



(3X1=3mks)

17. List two biotic factors that affect livestock production in Kenya.

(2mks)

· Parasites 
· Pathogens 



(2X1=2mks)

18. Name the function of the following parts in a poultry digestive system.

i. Crop






(1mk)

Stores food temporarily 

(1X1=1mk)
ii. Gizzard






(1mk) 

Crushing and grinding food

(1X1=1mk)
19. Name the equipment used alongside each of the following 

i. Trocar – 








(1mk)

Canular 

ii. Bull – ring – 







(1 mk)

Lead stick

iii. Wood chisel – 






(1mk)
Mallet 

iv. Elastrator – 







(1mk)

Rubber ring
(4X1=4 mks)

SECTION B (30 MKS)

ANSWER ALL QUESTIONS IN THIS SECTION IN THE SPACES PROVIDED.

20. Below is a method of identifying a cow

a). Name the method of identification. 

(1mk)

Ear notching



(1X1=1)
b). From the diagram, state the number of the animal.

(1mk)

No. 31

(1X1=1mk)
c). Using the diagram, illustrate how you would identify animal number 12 and 15. (2mks)
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21. The diagram below illustrates various soil structures. Study them carefully and answer questions that follow.

a). Name the type of soil structure labeled M, N, P and Q.


(4mks)

· M – Crumby soil structure
· N – Columnar soil structure

· P – Granular soil structure

· Q – Platy soil structure




(4X1=4mks)

b). Name the parts labeled A and B in the soil structure labeled P.
(2mks)

· A – Humus with clay

· B – Air space




(2X1=2mks)

c). Describe two ways in which soil structure affects crop growth.
(2mks)
· Influences soil aeration
· Influences root penetration

· Influences water holding capacity 



(2X1=2mks)

22. The diagram below shows common farm weeds.

a). Identify the weeds labeled J and K.


(2mks)

· J – Double thorn

· K – Thorn Apple



(2X1=2mks)

b). Classify weed J according to its life cycle.
(1mk)

J – Annual weed



(1X1=1mk)

c). State one harmful effect of weed K to livestock.

(1mk)

K – It is poisonous if eaten by livestock

(1X1=1mk)

23. a). A fertilizer has the grade 10:5:15. What do the numbers 10, 5 and 15 represent?
(3mks)

· 10 – Represents percentage of Nitrogen

· 5 – Represents percentage of Phosphorus

· 15 – Represents percentage of Potassium

(3X1=3mks)

b). Calculate the amount of K2O in 300kgs of a compound fertilizer 10:20:30.
(2mks)
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24. The diagram below illustrates a field management practice in tomatoes.

i. Identify the practice.

(1mk)

Staking



(1X1=1mk)

ii. State three reasons for carrying out the practice.

(3mks)

· To obtain clean fruits

· For economic use of chemical sprays
· For proper penetration of chemical sprays

· For easy harvesting

· For easy carrying out of management practices e.g. weeding

(3X1=3mks)

iii. Give another practice that could be carried out to give the same results

(1mk)

· Propping

· Trellising



(1X1=1mk) 

25. A dairy farmer wanted to prepare 200kgs of a calf rearing ration containing 20% DCP. The feedstuffs available were maize (10% DCP) and sunflower (35% DCP). Use the Pearson’s Square to calculate the amount of each feedstuff required. (show your working)
(4mks)
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SECTION C (30 MKS)

ANSWER ALL QUESTIONS IN THIS SECTION IN THE SPACES PROVIDED.

26. a). Explain the factors that influence soil erosion

(5mks)
a. Rainfall intensity – The higher the rainfall intensity, the higher the raindrop erosion

b. Slope of the land / topography – the steeper the land, the higher the speed of run – off

c. Soil depth – shallow soils are quickly saturated with water and are easily eroded than deep soils

d. Vegetation cover – lack of vegetation cover leaves land bare exposing soil to agents of soil erosion e.g. water, wind

e. Type of soil – sandy soil becomes saturated with water faster than clay soil and thus more easily eroded than clay soils

f. Deforestation – removes soil cover exposing soil to agents of soil erosion

g. Overstocking – causes overgrazing which leaves land bare exposing soil to agents of soil erosion.
h. Clean weeding – leaves the land bare exposing soil to agents of soil erosion
(5X1=5mks)

b). Describe the effects of strong wind in crop production. (5mks)

1) Causes lodging of crops
2) Increases evapotranspiration causing wilting of crops 

3) Causes soil erosion

4) Increases spread of pests and diseases

5) Blows away rain bearing clouds

6) Causes stress to crops through chilling by cold air

(5X1=5mks)

c). Describe uses of water in the farm.

(5mks)

i. Watering livestock
ii. Irrigation

iii. Cooling farm machinery e.g. tractor engines

iv. Diluting and mixing chemicals e.g. pesticides

v. Processing farm produce e.g. coffee

vi. Cleaning farm tools, equipment and structures

(5X1=5mks)

27. a). Describe the use of the following parts in a plunge dip

i. Collecting yard




(1mk)

Holding animals before dipping


(1X1=1mk)
ii. Foot bath





(2mks)

· Removes mud from hooves to prevent contamination of dip wash

· Contains copper sulphate solution to control foot rot disease
(2X1=2mks)

iii. Roof/shelter




(2mks)

a) Prevents dilution of dip wash by rainwater

b) Prevents evaporation of dip wash 

c) Have gutters to collect rainwater

(2X1=2mks)

iv. Drying yard




(1mk)

· For holding animals temporarily for the dip wash to dry to prevent contaminating pastures
(1X1=1mk)
b). State four methods of breaking seed dormancy 

(4mks)

i. Scarification
ii. Heat method / use of hot water

iii. Chemical treatment

iv. Soaking seeds in cold water


(4X1=4mks)

c). Describe transplanting of cabbage seedlings

(5mks)

i. Water the nursery bed thoroughly 
ii. Transplant seedlings when 1 month old or 3 – 4 weeks old

iii. Transplant in the evening to reduce transpiration

iv. Plant seedlings at the same depth as they were in the nursery bed

v. Select the healthy and vigorous growing seedlings

vi. Uproot seedlings with a lump/ball of soil around the roots

vii. Dig planting holes 15cm deep

viii. Spacing should be 60cm by 60cm


(5X1=5mks)[image: image4.png]



